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(1)(10 points) Unilateral Laplace transform. Find the unilateral

Laplace transform of the sngnal _%wen by
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(2)(10 points) Unilateral Laplace transform: rlnﬁ ttre’ unilateral

Laplace transform of the signal x(r) as shown.
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(3)(10 points) Inverse Laplace transform. Find the inverse Laplace

transform of the signal given by L slm)c’l:'
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(4)(10 points) Inverse Laplace transfog
transform of the signal given by
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(5)(10 points) Unilateral Laplace transform. Given x(t)e X(s)
unilateral Laplace transform pair and given the signal y(r) to be

we)=2e7" x(;’) —'J) express Y(s) in terms of X(s).
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(6)(10 points) Initial and final values. Determine the initial and final
values of x(¢) if the unilateral Laplace transform of x{¢) is given by
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(7)(10 points) Application of Laplace trangform to electric circuits.
For the electric circuit shown, use Laplacg/transform to find the output
voltage signal v_(¢) for r>0

nsider me as
S 005F
= SQ) :
AEJV__O ( Umla-l'uufoLaﬂa .
GQV‘MM
vi(f) = [20- 30U 01(V) 100 § Vo({)
20V -
( N b
La ace C:rua(:l : 'HA-LI"
Drow Hoe- = 20/s m"l‘c__‘;o:q 'prv Find me 30/5
20 o 41-\ P using VDP
10 b Ls__. N + V()2 — :Lo w)
S\ oaf\ (s) = ° 10+ Z2
N - _ =30
-Hn.c_ T s+2
'MP"AMQ' D ::ul:;pe.almco- —2t
acitory 4 Hu—vesighort Jo|Vs(H) = —20e  ult) V

(8)(10 points) Transfer function and impulse response. Find the
transfer function and the impulse response of the electric circuit
shown.

A/ggume, 4€ero 7"""""0-—0- T 2H
o B +
c.emdu""lﬂlfls. . ¥
vi(t) 150 F =< Vol)

Dvaw Har La.r(c-c,e, Craat _

s - + 50
vbp S
50 = \V (5)
0al L) = .
S . ) 20+ L+ -—5;0
T e
+roan Sj-&_f Soach ong (&) ag ~ 25

g H(s) Vi(s)  staostas | G+5)*

)

lm w58 -5t
So!'s h(:t) a[ {H(s)} Qge—gttuL-b) or|25te u(+)|,




(9)(10 points) Application of Laplace transform to electric circuits.
For the electric circuit shown, use Laplace transform to find the

current signal i (r) for 120.
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differential equations. Determine the response y{) for 20 of the
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